
3 FT MERCHANDISER  
COMPETITOR CROSS REFERENCE



NAME DESCRIPTION UPC W/ 
CHECK DIGIT DOTTIE MINERALLAC/

CULLY PECO SELECTA

CG20 GROUND CLIP SIZE 10/12/14 GREEN STEEL ZINC  
(CLAM 100) 639720161007 T1434TB 80011J GRCJ GC10J

CSH10F ANCHORS 1/4X1-1/4 HWH BLU ST-ZN (JAR100) 639720871104 14H114 6032NDJ 3902J CSH14114J

CSH20F ANCHORS 1/4X1-3/4 HWH BLU ST-ZN (JAR 100) 639720871203 14H134 60328NDJ 3903J CSH14134J

J1406 ANCHORS 1/4-20 MS LEAD ANCR (JAR 100) 639720808506 MA5 60212J 8812J MSA14J

J1408 ANCHORS 3/8-16 MS LEAD ANCR W/TOOL (JAR 50) 639720808520 MA7 60216J 8816J MSA38J

J1551 ANCHORS SPRG WING TOGBT 3/16" #10 3" (JAR 50) 639720808186 TBC363 58349J 5133J M3163J

JBHC2 BOLTS 1/4-20 X 1 HXBT ST-ZN (JAR 100) 639720806137 MB141 55016J HCS141J

JBHC45 BOLTS 3/8-16 X 1 HXBT ST-ZN (JAR 100) 639720806328 MB381 55416J 38X1HBG2ZJ HCS381J

JDIA14 ANCHORS DROP-IN 1/4"-20 LGTH 1"(JAR100) 639720818703 DA25 60402J 6325J SDIA14J

JDIA38 ANCHORS 3/8-16 DROP-IN ANCR ST-ZN (JAR  50) 639720818758 DA38 60404J 6337J SDIA38J

JDS181 SCREWS 10 X 3/4 IH HX 5/16HD 
SL TS ST (JAR 100) 639720802962 HWSMS1034 77012J 10X34H-

WHSTSZJ DS1034J

JDS182 SCREWS 10 X 1 IH HX 5/16HD 
SL TS ST-ZN (JAR 100) 639720802979 HWSMS101 77016J 10X1HWHSTSZJ DS101J

JDS184 SCREWS 10 X 1-1/2 IH HX 5/16HD SL TS (JAR 100) 639720802993 HWSMS10112 77024J 10X112H-
WHSTSZJ DS10112J

JDS185 SCREWS 10 X 2 IH HX 5/16HD 
SL TS ST-ZN (JAR 100) 639720803006 HWSMS102 77032J 10X2HWHSTSZJ DS102J

JDWS5C SCREWS 6 X 2 BGL PH FT DWS 
ST-BP (JAR 100) 639720803907 DWSBX62 79632J 2DSFTJ DW62J

JLW172 WASHERS 1/4 SPLIT LOCK ST-ZN (JAR 100) 639720805864 LW14 40525J 14LWZJ LW14J

JLW174 WASHERS 3/8 SPLIT LOCK ST-ZN (JAR 100) 639720805888 LW38 40535J 38LWZJ LW38J

JLW175 WASHERS 1/2 SPLIT LOCK ST-ZN (JAR 100) 639720805895 LW12 40540J 12LWZJ LW12J

JN163 NUTS 1/4-20 HX NUT ST-ZN  
(JAR 100) 639720804317 HN14 40125J 14F HNUSSZJ N1420J

JN165 NUTS 3/8-16 HX NUT ST-ZN  
(JAR 100) 639720804331 HN38 40135J 38FHNUSSZJ N3816J

JRM100 SCREWS 1/4-20 X 3/4 RH CD  
MS ST-ZN (JAR 100) 639720800609 RMC1434 53012J 14X34RHCMSZJ RH1434J

JRM101 SCREWS 1/4-20 X 1 RH CD MS 
ST-ZN (JAR 100) 639720800616 RMC141 53016J 14X1RHCMSZJ RH141J

JRM22 SCREWS 1/4-20 X 3/8 RH CD MS ST-ZN (JAR 100) 639720800579 RMC1438 53006J 14X38RHCMSZJ RH1438J

JRM63 SCREWS 6-32 X 1 RH CD MS ST-ZN (JAR 100) 639720800265 RMC6321 52216J 632X1RHCMSZJ RH61J

JRM82 SCREWS 6-32 X 1-1/2 RH CD MS ST-ZN (JAR 100) 639720800289 RMC632112 52224J 632X112RH-
CMSZJ RH6112J

JRM83 SCREWS 6-32 X 2 RH CD MS ST-ZN (JAR 100) 639720800296 RMC6322 52232J 632X2RHCMSZJ RH62J

3 FT MERCHANDISER COMPETITOR CROSS REFERENCE 



Continued on back

NAME DESCRIPTION UPC W/ 
CHECK DIGIT DOTTIE MINERALLAC/

CULLY PECO SELECTA

JRM88 SCREWS 8-32 X 1-1/2 RH CD MS ST-ZN (JAR 100) 639720800371 RMC832112 52424J 832X112RH-
CMSZJ RH8112J

JRM89 SCREWS 8-32 X 2 RH CD MS ST-ZN (JAR 100) 639720800388 RMC8322 52432J 832X2RHCMSZJ RH82J

JSW73 WASHERS 1/4 FLAT ST-ZN  
(JAR 100) 639720805017 FW14 40325J 14FWSAEZJ SAE14J

JSW75 WASHERS 3/8 FLAT ST-ZN  
(JAR 100) 639720805031 FW38 40335J 38FWSAEZJ SAE38J

JSW76 WASHERS 1/2 FLAT ST-ZN  
(JAR 100) 639720805048 FW12 40340J 12FWSAEZJ SAE12J

JTEKD18 SCREWS 10 X 1-1/4 HWH 5/16HD TS D-PT2 (JAR 100) 639720803563 TEKHW10114 79020J 10X114HTJ TK10114J

JTEKD2 SCREWS 8 X 3/4 HWH 1/4HD  
TS D-PT2 ST- (JAR 100) 639720803471 TEKHW834 78812J 8X34HTJ TK834J

JTEKD22 SCREWS 10 X 2 HWH 5/16HD  
TS D-PT3 ST (JAR 100) 639720803600 TEKHW102 79032J 10X2HTJ TK102J

JTEKD6 SCREWS 10 X 3/4 HWH 5/16HD  
TS D-PT2 S (JAR 100) 639720803549 TEKHW1034 79012J 10X34HTJ TK1034J

JTEKD7 SCREWS 10 X 1 HWH 5/16HD  
TS D-PT2 ST- (JAR 100) 639720803556 TEKHW101 79016J 10X1HTJ TK101J

JW116 WASHERS 1/4 X 1-1/4 FENDER  
ST-ZN (JAR 100) 639720805376 FENW14114 40725J 14X114FWZJ FW14114J

JW116 WASHERS 1/4 X 1-1/4 FENDER  
ST-ZN (JAR 100) 639720805376 FENW14114 40725J 14X114FWZJ FW14114J

JW119 WASHERS 3/8 X 1-1/4 FENDER  
ST-ZN (JAR 100) 639720805437 FENW38114 40743J 38X114FWZJ FW38114J

PT40 GROUND PIGTAIL 7" #12 SOLID INSULATED COPPER 
GRN ST ZINC (BOX 100) 639720160055 GP650 80018 GPT14 PT14

RCT28 ROD COUPLING 3/8-16 HX ST-ZN (JAR 50) 639720217155 RC2 59606J 38RCZJ RC38J

BFR12 MASONRY DRILL BIT CARBIDE SLOW SPIRAL DIA 1/4"  
4 SHANK 1/4" (1PC) 63972024110 MD2 59906 9708J MD144C

BHD1 BELL HANGER DRILL BIT DIA 1/4" 12" (1 PC) 63972026000 BLH14112 82204 N/A BHD1413

WAKJ15 ANCHORS 5/16 RED PLAS WALL ANCR KIT, 
COMBO SCREW (JAR 100) 63972020605 K14C 39822 8722E NA

WAKJ14 ANCHORS 1/4 RED PLAS WALL ANCR KIT, 10 (JAR 200) 63972020575 K6CO 39820 8711E HPAK14L

PT4010 GROUND PIGTAIL 10" #12 SOLID INSULATED COPPER 
(PK 25) 63972016007 GP1050 80020 GPT12-10 PTS1212

PSA1J ANCHORS 6--8 S-DR WALL ANCR KIT NY (JAR 100) 63972020705 WDK8N 39921 2348 SN1KJ

WAKJ19 ANCHORS 1/4 YEL PLAS WALL ANCR KIT, 10 (JAR200) 63972020650 2AK 39763 8715E MXK14J

GSH22 GROUND SCREW10-32 X 3/8 QD T-23 GREEN STEEL 
ZINC (BOX 100) 63972016112 1032GG 80006P  1032X38GGST23J GS1038J

JDS174 SCREWS 12 X 2 IH HX 5/16HD SL TS ST-ZN (JAR 100) 63972080307 HWSMS122 77232BFG 12X2HWHSTSZJ DS122J

JPDW1C SCREWS 6 X 7/16 PN PH S-PT FRAMING ST-BP (JAR 100) 63972080401 F6716/FT6716 10707BFG 6X716PHPFSSPJ PDW6716J

JTEKD19 SCREWS 10 X 1-1/2 HWH 5/16HD TS D-PT2 (JAR 100) 63972080357 TEKHW10112 79024J 10X112HTJ TK10112J



©2024  NSI Industries
MET_XREF3FTDISPLAY_FST_PRODXREF_0624

nsiindustries.com
800.321.5847

NAME DESCRIPTION UPC W/ 
CHECK DIGIT DOTTIE MINERALLAC/

CULLY PECO SELECTA

JDWC3C SCREWS 6 X 1-1/4 BGL PH CT DWS ST-BP (JAR 100) 63972090503 N/A 79625J 114DSJ DW6114J

JDWC5C SCREWS 6 X 1-1/4 BGL PH CT DWS ST-BP (JAR 100) 63972090505 N/A 79634J 2DSJ DW62J

JWDS1C SCREWS 8 X 1/2 WFR PH S-DR DWS ST-ZN (JAR 100) 63972080414 TEKW812 26809J 8X12PPWTJ SCW812J

JWDS2C SCREWS 8 X 1/2 WFR PH S-DR DWS ST-ZN (JAR 100) 63972080415 TEKW834 26813J 8X34PPWTJ SCW834J

JWDS3C SCREWS 8 X 1 WFR PH S-DR DWS ST-ZN (JAR 100) 63972082043 TEKW81 26817J 8X1PPWTJ SCW81J

JFMP83 SCREWS 6-32 X 2 FH PH MS ST-ZN (JAR 100) 63972084119 FM6322 50133J 632X2FHSMSZJ FH62J

JW114 WASHERS 1/4 X 1-1/2 FENDER ST-ZN (JAR 100) 63972080538 FENW14112 40730J 14X112FWZJ FW14112J

JW117 WASHERS 3/8 X 1-1/2 FENDER ST-ZN (JAR 100) 63972080544 FENW38112 40745J 38X112FWZJ FW38112J

JN166 NUTS 1/2-13 HX NUT ST-ZN (JAR 50) 63972080434 HN12 40140J 12FHNUSSZJ-50 N1213J

ZSA1J ANCHORS 8 X 1-1/4 S-DR WALL ANCR KIT Z (JAR 50) 63972020710 WDK8 39940J 2349J SN2ZKJ

J1511 ANCHORS SPRG WING TOGBT RH SLPH 1/4"  
TRD 20 LGT 3"  (JAR 50) 63972080813 TBC43 58549 5231J R143J

J1512 ANCHORS SPRG WING TOGBT RH SLPH 1/4"  
TRD 20 LGT 4"  (JAR 50) 63972010396 TBC44 58565 5241J R144J


